
Simple Division
Use division to solve the problems below. Show your work.
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1. Ashtin is about to move to another house with his family, so he is
   packing things up. He has 21 T-shirts, and one box can only fit 7.
   How many boxes would he need to pack all his T-shirts away?

2. Barack got 35 pencils. He wants to share them with his 4 younger
   siblings. How many would each of them (including Barack) get?

3. Conner went out to dinner with a group of friends. The bill ended
   up being $54, and each of them paid $9. How many people were 
   in the group?

4. Dennis’s has a 24-inch-long piece of paper. He wants to cut it into
   6 even parts. How long would each part be?

5. Elvis used to drive 34 miles to work everyday. Now his workplace is
   a lot closer, and he only has to drive half of that distance. How many
   miles does he drive to work now?
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Simple Division
Use division to solve the problems below. Show your work.

1. Ashtin is about to move to another house with his family, so he is
   packing things up. He has 21 T-shirts, and one box can only fit 7.
   How many boxes would he need to pack all his T-shirts away?
   21÷7 = 3 boxes

2. Barack got 35 pencils. He wants to share them with his 4 younger
   siblings. How many would each of them (including Barack) get?
   35÷5 = 7 pencils

3. Conner went out to dinner with a group of friends. The bill ended
   up being $54, and each of them paid $9. How many people were 
   in the group?
   54÷9 = 6 people

4. Dennis’s has a 24-inch-long piece of paper. He wants to cut it into
   6 even parts. How long would each part be?
   24÷6 = 4 inches

5. Elvis used to drive 34 miles to work everyday. Now his workplace is
   a lot closer, and he only has to drive half of that distance. How many
   miles does he drive to work now?
   34÷2 = 17 miles


